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51. The first Acting President of India was?

a. V.V.Giri b. B.D.Jatti c. Hindayatulla d. N.Sanjeeva Reddy.

52. The joint sitting of the Parliament will be preside over by

a. Speaker b. Vice President c. Attorney General d. Chief Justice of India

53. The maximum number of Anglo Indians who can be nominated to the Lok Sabha are

a. 3 b. 2 c. 5 d. 4.

54. Which of the following is not correct regarding a Money Bill?

a. It can be introduced in either House of parliament

b. It can be passed by the Lok Sabha even if the Rajya sabha rejects it

c. It is deemed to have been passed by both Houses if it is not returned by the Rajya Sabha within

14 days

d. It requires the prior approval of the president.

55. Which Parliamentary committee in India is normally chaired by a Prominent member of the

Opposition?

a. Committee on Government Assurances b. Estimates Committee

c. Privileges Committee d. Public Accounts Committee.

56. A bill for alteration of boundaries of states shall not be introduced in the Parliament without the

recommendation of

a. The presiding officers of both Houses of Parliament

b. The legislature of the states concerned
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c. Supreme court

d. President.

57. When can the Speaker exercise his right to vote in the House?

a. Whenever he desires b. Whenever the House desires

c. Only in the event of equality of votes d. Whenever his party directs.

58. Which of the following non-members of Parliament has the right to address it?

a. Solicitor General of India b. Chief Justice of India

c. Attorney General of India d. Chief Election Commissioner.

59. The Constitution of India does not Mention the post of

a. The Deputy Chairman of the Rajya Sabha

b. The Deputy Prime Minister

c. The Deputy speaker of the Lok Sabha

d. The Deputy Speaker of the State Legislative Assemblies.

60. Who among the following decides whether particular bill is a Money Bill or not?

a. President b. Speaker of Lok Sabha

c. Chairman of Rajya Sabha d. Finance Minister.
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61. Find the difference between simple interest and compound interest on Rs.6,400 for 2 years at 6 ¼%

p. a. compounded annually.

a. 25 b. 26 c. 1875 d. 1800

62. The difference between C. I. and S. I. for 2 years on a sum of money lent at 5% p.a. is Rs. 5. Find

the sum of money lent.

a. 6000 b. 4000 c. 2000 d. 1500

63. Sujatha borrows Rs.12,500 at 12% per annum for 3 years at simple interest and Radhika borrows

the same amount for the same period at 10% per annum compounded annually. Who pays more

interest and by how much

a. 362.10 b. 362.26 c. 362.39 d. 362.50

64. What sum is invested for 1½ years at the rate of 4% p.a. compounded half -yearly which amounts to

Rs.1,32,651?

a. 1,25,000 b. 1,26,000 c. 1,27,000 d. 1,28,000

65. Gayathri invested a sum of  12,000 at 5% p.a. at compound interest. She received an amount of

Rs.13,230 after „n‟ years. Find the value of „n‟.

a. 1 b. 2 c. 3 d. 4
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66. The value of a machine depreciates by 5% each year. A man pays Rs.30,000 for the machine. Find

its value after three years.

a. 25721.25 b. 27521.25 c. 72215.25 d. 25271.25

67. In a Laboratory, the count of bacteria in a certain experiment was increasing at the rate of 2.5% per

hour. Find the bacteria at the end of 2 hours if the count was initially 5,06,000.

a. 531616. 25 b. 531661.25 c. 635116.25 d. None of these

68. From a village people started migrating to nearby cities due to unemployment problem. The

population of the village two years ago was 6,000. The migration is taking place at the rate of 5%

per annum. Find the present population

a. 6000 b. 5312 c. 5148 d. 5415

69. The present value of an oil engine is Rs.14,580. What was the worth of the engine 3 years before if

the value depreciates at the rate of 10% every year?

a. 10,000 b. 15,000 c. 20,000 d. 25, 000

70. The population of a village increases by 9% every year which is due to the job opportunities

available in that village. If the present population of the village is 11,881, what was the population

two years ago?

a. 10, 000 b. 9000 c. 8000 d. 7000
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71. Match the following List I with List II and choose the correct answer from the codes given below:

List I List II 

A. Magna Carta of India 1. 1883

B. Vernacular Press Act 2. 1885

C. Ilbert Bill 3. 1878

D. Indian National Congress 4. 1858

A B C D 

a. 3 4 1 2 

b. 4 3 1 2 

c. 2 3 1 4 

d. 1 4 3 2 

72. The British historians called the revolt of 1857 as

a. Military revolt b. The great revolt c. War of Independence d. Freedom Struggle

73. The Lucknow conference of Indian National Congress in 1916 is an important turning point because

a. It demanded domination status for India

b. It demanded complete independence

c. Annie Besant was the President

d. Indian National Congress and all India Muslim league resolved for a joint struggle

74. The Hunter commission was appointed by the British to probe the

a. Non-cooperation movement b. Khilafat movement

c. Chauri Chaura incident d. Jallian Wala Bagh Tragedy



P
ag

e1
0

75. Arrange the following incidents in chronological order:

a. Surat split, Home rule league, Estalishment of Muslim league

b. Home rule league, Surat split, Establishment of Muslim league

c. Surat split, Establishment of Muslim league, Home rule league

d. Establishment of Muslim league, Surat split, Home rule league

76. The first Indian lady to preside over the Indian National Congress was

a. Vijayalakshmi Pandit b. Kasturi Bai

c. Rani Lakshmi Bai d. Sarojini Naidu

77. Which party took out a huge processing against the Simon commission under the leadership of Lala

Lajpat Rai?

a. Indian National Congress b. Muslim League

c. Republican party of India d. Hindustan Socialist Republican Party

78. University Act of 1904 was passed during the time of

a. Lord Lytton b. Lord Rippon c. Lord Curzon d. Dalhousie

79. Simon commission was boycotted by India as

a. None of Indians was a member

b. It was meant for the division of India

c. There was no representation of the labour party

d. It was headed by the General Dyer
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80. Why did Gandhiji found Satyagraha Sabha in 1919?

a. Against Indian Council Act, 1909 b. Against Rowlat Act

c. Against Government of India Act, 1919 d. Against Jallianwala bagh Massacre

81. If the Prime Minister of India belonged to the Upper House of parliament, which among the

following statement is correct?

a. He will not be able to vote in his favour in the event of a no-confidence motion

b. He will not be able to speak on the budget in the Lower House

c. He can make statements only in the upper House

d. He has to become a member of the Lower House within six months after being sworn in as the

Prime Minister

.

82. An amendment to the Constitution of India can be initiated by the, which among the following

institution,

1. Loksabha 2. Rajya Sabha 3. State Legislature 4. President

a. 1 alone b. 1,2 and  3 c. 2,3 and 4 d. 1 and 2.

83. Consider the following statements about the Attorney General of India:

1. He is appointed by the President of India

2. He must have the same qualifications as are required for a judge of the Supreme Court

3. He must be a member of either House of Parliament

4. He can be removed by impeachment by Parliament

Which of these statements are correct?
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a. 1 and 2 b. 1 and 3 c. 2,3 and 4 d. 3 and 4.

84. Who amongst the following can be removed without Parliament‟s resolution?

a. Governor of a state b. Any judge of the Supreme Court

c. Any judge of a High Court d. Chief Election Commissioner.

85. If a question asked by a Member of Parliament is a starred one, he will get a

a. A written answer b. An oral answer

c. Answer in the Zero hour d. No answer.

86. For removing the Vice President of Indian from his office a resolution is initiated by

a. The joint sittings of both the House b. The Rajya Sabha

c. The Lok Sabha d. Any of the two Houses.

87. The Cut Motion which takes the expression that the amount of the demand be reduced by Rupees

100, is

a. The Policy Cut b. Economy Cut c. Token Cut d. Cost Cut.

88. The President is elected by the members of an electoral college, consisting of?

1. The members of both the House of the Parliament

2. The members of the Legislative assemblies of the state
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a. 1 only b. 2 only c. Both d. None of these

89. Which one of the following articles in the constitution of India is related to the amendment of the

constitution?

a. Article 268 b. Article 363 c. Article 263 d. Article 368

90. In a parliament type of the Government, the ministry is responsible to

a. The Upper House Only b. The Lower House Only

c. Both upper and lower Houses d. The President or the King.

91. At what rate per annum will 640 amounts to Rs.774.40 in 2 years, when interest is being

compounded annually?

a. 10% b. 12 c. 15 d. 8%

92. In how much time will a sum of Rs.1600 amount to Rs. 1852.20 at 5% per annum compound

interest.

a. 1 b. 2 c. 3 d. 4

93. Find the difference between Simple Interest and Compound Interest for a sum of Rs. 8,000 lent at

10% p. a. in 2 years.

a. 1600 b. 8 c. 80 d. 16

94. Find the compound interest on Rs. 24,000 compounded half - yearly for 1½ years at the rate of 10%

per annum
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a. 3783 b. 4000 c. 3680 d. 4921

95. Find the amount that Dravid would receive if he invests Rs.8,192 for 18 months at 12½% per

annum, the interest being compounded half - yearly.

a. 9826 b. 9825 c. 9824 d. 9827

96. Find the compound interest on Rs.15,625 for 9 months, at 16% per annum compounded quarterly.

a. 1950 b. 1951 c. 1850 d. 1900

97. Find the Principal that will yield a compound interest of Rs. 1,632 in 2 years at 4% rate of interest

per annum.

a. 20, 000 b. 30,000 c. 25,000 d. 35,000

98. Vicky borrowed Rs. 26,400 from a bank to buy a scooter at the rate of 15% p.a. compounded

yearly. What amount will he pay at the end of 2 years and 4 months to clear the loan?

a. 36,609.70 b. 37000.60 c. 36659.70 d. 37659.70

99. Arif took a loan of  Rs.80,000 from a bank. If the rate of interest is 10% p. a., find the difference in

amounts he would be paying after 1½ years if the interest is (i) compounded annually and (ii)

compounded half - yearly.
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a. 180 b. 190 c. 200 d. 210

100. Find the difference between simple interest and compound interest on Rs.2,400 at 2 years at

5% per annum compounded annually

a. 2069 b. 100 c. 54 d. 6

101. The first Military opposition against the British in India was

a. Indian Sepoy Mutiny b. Vellore Sepoy Mutiny

c. Opposition of the Rajas d. Opposition of the Begums of Oudh

102. Who said „1857‟ Revolt was the first war of  Independence

a. S.B. Choudhary b. V.D. Savarkar c. R.C. Majumdar d. S.N. Sen

103. Match the following

1857 Revolt Place Leader of Suppression 

A. Delhi - 1. Colin Campbell

B. Kanpur - 2. John Nicholson

C. Bihar - 3. Hugh Rose

D. Jhansi - 4. William Taylor

A B C D 

a. 1 2 3 4 

b. 1 2 4 3 

c. 2 1 4 3 

d. 2 1 3 4 

104. Indian Association was founded by

1. Surendranath Banerjee 2. W.C. Bonnerjee
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3. Anand Mohan Bose 4. Dadabhai Naroji

a. 1 Only b. 1, 2 Only c. 1, 3 Only d. 1, 2, 3, 4

105. Who was the president of Indian National Congress at the time of Surat spilt

a. George Yule b. Raj Bihari Bose

c. Raj Bihari Ghose d. Lala Lajpat Ray

106. Who was the president of 1924, Indian National Congress session at Belgaum?

a. W.C. Bonnarjee b. Gandhi ji

c. Maulana Abul kalam d. Jawaharlal Nehru

107. Which one of the following Leader organised vande Matram Movement in Madras during

Swadeshi movement

a. Tilakar b. Bharathiyar

c. V.O. Chithambaram d. Bipin Chandra Pal

108. „New Lamps for old‟ was series of articles that criticized the moderate congress was written

by

a. Tilakar b. Aurobindo Ghosh

c. Bipin Chandra Pal d. Lala Lajpat Tai

109. Which among the following Act led to Jallian Wallabagh Massacre ?

a. The Arms Act b. The Rowlett Act

c. The public safety Act d. Vernacular press Act
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110. Which one of the following Indian National Congress session adopted the resolution of

Swadeshi

a. Benaras session of 1905 b. Calcutta session of 1906

c. Calcutta session of 1920 d. Lahore session of 1929

111. When a money bill is passed by the Lok Sabha, but not returned by the Rajya Sabha within

14 days of its receipts

a. It cannot become an Act

b. It is deemed to have been passed by both the Houses

c. It is again referred to the Rajya Sabha

d. It is Reconsidered by the Lok Sabha itself.

112. A bill passed by Parliament is sent to the President for his assent, which option is not

possible to him?

a. He may sigh it

b. He may decline to sign it

c. He may return it to Parliament for reconsideration

d. He may withhold it.

113. What percentage of the quorum required to hold meetings of the legislative chambers?

a. 15 b. 20 c. 12 d. 10.

114. The Chairman of the Rajya Sabha is

a. Elected by the members of Rajya Sabha
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b. Nominated by the President

c. Elected by members of both Houses of Parliament

d. Elected by Parliament and State Legislatures jointly.

115. The Time gap between two sessions of the Parliament should not exceed

a. 3 months b. 6 months c. 9 months d. 1 year.

116. One third of the members of the rajya Sabha retire after every

a. One year b. Second year c. Third year d. Fifth year.

117. What is the minimum age for election/appointment as member of the Rajya Sabha?

a. 35 years b. 30 years c. 25 years d. 40 years.

118. Parliament of India, composed of

a. Lok Sabha only b. Rajya Sabha only

c. Lok Sabha and Rajya Sabha d. Lok Sabha, Rajya sabha and President.

119. Maximum number of M.P for lok sabha are elected from which one of the following state?

a. Bihar b. Maharashtrac. Nagaland d. Rajasthan.

120. Appointment of the members of the Council of Ministers is made by the President

a. On the advice of the Prime Minister b. In his own discretion
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c. On the advice of the Vice-President d. Chief justice of India.

121. A sum was put at simple interest at a certain rate for 3 years. Had it been put at 2% higher

rate it would have fetched Rs. 360 find the sum

a. Rs. 6000 b. Rs. 5000 c. Rs. 4000 d. Rs. 3000

122. The simple interest at x% for x years will be Rs. x on the sum of

a. p = x
2
/100 b. p = x

3
/100 c. p = 100/x d. 100/x

2 

123. A sum of amount Rs.12,000 is doubles in 5 years by C.I. what is the amount is after 20 years

a. 19600 b. 148000 c. 196000 d. 192000

124. A sum of money doubles itself at compound interest in 15 years. In how many years it will

become eight times?

a. 45 yrs b. 35 yrs c. 32 yrs d. 44yrs

125. In  what time will Rs. 500 give Rs.50 as interest at the rate of 5% p.a S.I?

a. 2 yrs b. 3 yrs c. 4 yrs d. 5 yrs

126. In what rate per cent a principle of Rs.2345 amounts to Rs.1055.25 in 3 years?

a. 10% b. 15% c. 17% d. 18%
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127. A lend Rs.5000 to B for 2 years and Rs. 3000 to C for 4 years on simple interest at the same

rate of interest and received Rs.2200 in all from both of them as interest. The rate of interest per

annum is:

a. 5% b. 6% c. 8% d. 10%

128. Find the C.I. on Rs.15,625 at 8% p.a. for 3 years compounded annually.

a. 4058 b. 4085 c. 19683 d. 4167

129. Find the compound interest on Rs. 1000 at the rate of 10% per annum for 18 months when

interest is compounded half-yearly.

a. 156.63 b. 156.73 c. 157.63 d. 157.73

130. Find the compound interest on Rs. 20,000 at 15% per annum for 2 1/3 years.

a. 7712.50 b. 7777.50 c. 7727.50 d. 7772.50

131. Who was the first Englishman to preside over a congress session

a. George Yule b. Lord Dufferin c. W. Weddweburn  d. Lord Canning

132. Which one of the following statement is correct regarding Ghandiji National Movement

1. His first Civil Disobedience movement was champaran Satyagraha

2. His first Non Cooperation Movemen was the Ahmedabad Satyagraha

3. His first hunger strike was kheda Satyagraha
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a. 1 Only b. 1, 2 Only c. 1,3 Only d. 1, 2, 3

133. Which one of the following day was observed as Anti-Rowlatt Act day in India

a. Oct 16, 1905 b. Mar 18, 1919 c. Apr 6, 1919 d. Apr 13, 1919

134. According to the resolution of the Lahore congress meet, the independence day was

celebrated throughout India on--------

a. 1930 January 15 b. 1930 January 26 c. 1929 January 15     d. 1929 January 26

135. Match the following

Place of Revolt The Leaders  

A. Lucknow - 1. Kanwar Singh  

B. Delhi - 2. Nanasahib 

C. Bihar - 3. Hazarat Mahal 

D. Kanpur - 4. Bahadur Shah  

A B C D 

a. 4 3 2 1 

b. 3 4 1 2 

c. 4 3 2 1 

d. 3 1 4 2 

136. Which one of the following is the reason for withdrawal of non-cooperation movement by

Gandhiji

a. Jallianwala Bagh Tragedy b. Chauri Chaura Incident

c. Second World War d. Gandhi – Irwin Pact
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137. Which secretary of State challenged Indian National Congress to draft a consensus based

constitution upon which INC submitted Nehru Report

a. Lord Morely b. Lord Montague c. Lord Brikenhead d. Lord Simon

138. Mahatma Gandhi was referred to as the Father of the Nation first by

a. Jawarharlal Nehru b. Sarojini Naidu c. Thilak d. Nethaji

139. Which among the following leaders are not among the extremist

a. Tilak b. Bipin Chandra Pal  c. Aurobindo gosh d. W.C. Banerjee

140. Annie Besant become the president of Indian National Congress in the year

a. 1915 b. 1916 c. 1917 d. 1918

141. Who administers the oath of office to the President?

a. Chief justice of India b. Speaker of Lok Sabha

c. Prime Minister d. Vice President.

142. Decision on question as to disqualification of membership of either Houses of Parliament

rests with the:

a. Election Commission

b. House of Parliament concerned

c. Chief Justice of India

d. President after consultation with the Election Commission.
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143. The Railway Budget was separated from the Central Budget in the year- 

a. 1920  b. 1921 c. 1922 d. 1923.

144. Impeachment proceedings against the President for violation of the Constitution can be

initiated in- 

a. The Lok Sabha    b. The Rajya Sabha

c. Either House of Parliament d. The Supreme Court.

145. Who among the following had the longest tenure as the Prime Minister of India?

a. Morarji Desai b. Indra Gandhi c. V.P. Singh d. Lal Bhadur Shastri.

146. Who was the speaker of the First Lok Sabah?

a. Hukam Singh b. G V Mavalankar c. K M Munshi d. U N Dhebar.

147. The provision that provides the President to send back a bill for reconsideration is also

known as

a. Pocket Veto b. Absolute Veto c. Qualified Veto d. Suspensive Veto

148. The term of Lok Sabah

a. Cannot be extended under any circumstances

b. Can be extended by six months at a time

c. Can be extended by one year at the time during the proclamation of emergency

d. Can be extended for two years at a time during the proclamation of emergency.
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149. Who is the Chairman of Indian planning commission?

a. President of India b. Prime Minister of India

c. Finance Minister of India d. Vice President of India

150. The 44
th

 Constitutional Amendment Act, 1978 relating to the declaration of National

emergency requires the President of India to act in accordance with the

a. Collective advice of the Entire Council of Minister

b. Return Advice of the Union Cabinet

c. Advice of the Attorney General of India

d. Advice of the Supreme Court

151. The number of small cubes with edge 10cm that can be accommodated in a cubical box of

edge 1m is

a. 10 b. 100 c. 1000 d. 10000

152. A sum of the interior angles of a Hexagon is

a. 360
0

b. 240
0

c. 720
0

d. 180
0

153. The side of an equilateral triangle is 4cm. then its altitude is

a. 2√ b. 4√ c. 8√ d. 4
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154. The outer and the inner radii of a hollow sphere are 12m and 10cm. find its volume

a. 3050 2/3 cm
3

b. 3049 2/3 cm
3

c. 3060 2/3 cm
3

d. 3059 2/3 cm
3 

155. A sum of money is to be distributed among P, Q, R, S in the proportion of 5:2:4:3. If R gets

Rs.2,500 more than S, What is Q‟s Share?

xU Fwpg;gpl;l njhif P, Q, R, S  MfpNahUf;fpilNa 5:2:4:3 vd;w tpfpjj;jpy; 

tpepNahfpf;fg;gl;lhf Ntz;Lk;. S-ia tpl R - &.2>500/- mjpfk; ngWtH vdpy;> Q-d; gq;F 
vt;tsT? 

a. 10,000 b. 7,500 c. 5,000 d. 2,500

156. Simple interest on a certain sum of money for 3 years at 8% per annum is half the compound

interest on Rs.4,000 for 2 years at 10% per annum. The sum placed on Simple Interest is?

xU Fwpg;gpl;l njhifapd; kPJ Mz;nlhd;Wf;F 8% tPjj;jpy; 3 Mz;LfSf;F jdptl;bahf 

tuf;$ba njhif &.4>000 –j;jpd; kPJ Mz;nlhd;Wf;F 10% tPjj;jpy; 2 Mz;LfSf;F 
$l;L tl;bahfg; ngwg;gLk; njhifapy; ghjpahf mikAk;. vdpy;> jdptl;b tPjj;jpd; mry; 
vd;d? 

a. 1,550 b. 1,650 c. 1,750 d. 2,000

157. If the rate of simple interest is 12% per annum, then find the amount that would get interest

of Rs. 6,000 per annum.

a. Rs. 82,000 b. Rs. 50,000 c. Rs. 72,000 d. Rs. 45,000

158. The difference between the compound interest and simple interest on a certain sum at 8%

per annum for 2 years is Rs.240. find the sum

a. Rs.35,000 b. Rs.35,700 c. Rs.37,500 d. Rs.40,000
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159. Alex invested an amount of Rs.8,000 in a fixed deposit scheme for 2 years at compound

interest rate 5% per annum. How much amount will Alex get on maturity of the fixed deposit?

a. Rs.8,600 b. Rs. 8,620 c. Rs.8,820 d. Rs.8,840

160. A man took a loan amount of Rs.15000 from a bank at the rate of 12% p.a. simple interest.

Find the interest he has to pay after 3 years?

a. Rs.5400 b. Rs.5600 c. Rs.5800 d. Rs.5000

161. The Asiatic society was established in Calcutta by

a. Warren Hastings b. Sir William Jones

c. Raja Ram Mohan Roy d. T.R.Macaulay

162. The main object of Partitioning Bengal in 1905 was

a. To weakers the influence of the Bengal Hindus

b. That the Muslim league demanded it

c. That the people of Bengal wanted it

d. None of these

163. The mutiny of 1857 failed because

a. It was not supported by people b. The Indian princes did not help

c. The Russians helped the British d. The Muslims kept a loof
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164. Match list I with list II and select your answer using the codes given below:

List I List II

A. Tilak 1. New India

B. Annie Besant 2. Vande Mataram

C. Gandhiji 3. Kesari

D. Lala Lajpat Rai 4. Young India

Codes: 

A B C D 

a. 3 1 4 2 

b. 1 2 3 4 

c. 2 3 1 4 

d. 4 3 2 1 

165. Arrange the correct chronological order?

1. Montague Declaration 2. Komagata Maru Incident

3. Khilafat Movement 4. Rowlatt Act

a. 1, 2, 3, 4 b. 2, 1, 3, 4 c. 1, 3, 4, 2 d. 2, 1, 4, 3

166. The Boycott of Simon commission movement in Tamil Nadu Led by

a. Rajaji b. Sathyamoorhy c. Kamarajar d. Periyar

167. Which one of the following leader composed the Bangladesh national song „Amar Sonar

Bangla‟

a. Bankim Chandra Chattarj b. Dadabhai Naoroji

c. Bipin Chandre pal d. Rabindranath Tagore
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168. Which one of following statement is correct regarding South Indian Revolt

Revolt       Control by

1. Vellore mutiny - Captain Campbell

2. Pulidevan Revolt - Colonel Gillespie

3. Veerapandia Kattabomman Revolt - Major Bannerman

a. 1 only b. 2 only c. 3 only d. All the above

169. Which Nayak Ruler shifted the capital from Trichy to Madurai

a. Vishwanatha Nayak b. Thirumalai Nayak

c. Sevappa Nayak d. Ragunatha Nayak

170. “War of the Noses” took place during the reign of

a. Krishnappa Nayak b. Rani Meenakshi

c. Thirumalai Nayak d. Rani Mangammal

171. By which of the following Amendments, the Indian President is bound to Act according to

the advice tendered to him by the Council of Minister?

a. 42
nd

 Amendment b. 44
th

 Amendment c. 45
th

 Amendment d. 46
th

 Amendment

172. Who is the Speaker of Sixteenth Lok Sabha

a. Bala Ram Jakhar  b. Sumitra Mahajan  c. Meira Kumar d. Somnath Chatterjee
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173. Who was the Prime Minister when for the first time No-confidence motion was moved in

the Indian Parliament?

a. Jawaharlal Nehru b. Indira Gandhi

c. Morarji Pesai d. Lal Bahadur Shatri

174. Who said that „Prime Minister in the captain of the ship of the State

a. Munro b. Ramsay Muir c. Jennings d. H.J. Laski

175. The Vice President of Indian is elected by

1. The Member of Lok Sabha

2. The member of Rajya Sabha out of these

a. Neither 1 nor 2 b. 1 only c. 2 only d. Both 1 and 2

176. Arrange the Chronological order of the following Vice-President

1. Bhairon Singh Shekkawat 2. K.R. Narayanan

3. Mohammed Hamid Ansari 4. Krishna Kant

a. 3, 4, 1 and 2 b. 2, 4, 1 and 3 c. 1, 3, 2 and 4 d. 4, 2, 3 and 1

177. Which one of the following Article says, the Vice President presides over meetings of the

Council of States?

a. Article 89 b. Article 90 c. Article 87 d. Article 88

178. In which one of the following dates, was the Supreme Court of India was inaugurated?

a. 26
th

 March 1950 b. 26
th

 February 1950

c. 26
th

 January 1951 d. 28
th

 January 1950
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179. In India, who formed the First coalition Government?

a. Deva Gowda b. V.P. Singh c. Moraji Desai d. Charman Singh

180. Under which Article, the Dead lock may be resolved by a joint session of the two houses of

parliament if there is a disagreement between two houses of Parliament regarding the passage of a

bill

a. Article 108 b. Article 107 c. Article 111 d. Article 121

181. A circular ground of radius 7m has a path of width 7m around it on its outside. The area of

the path is approximately equal to

a. 154 sq.m b. 308 sq.m c. 462 sq.m d. 616 sq.m

182. The volume of a cube is 125cm
3
. The surface area of the cube is

a. 625 cm
2

b. 125 cm
2

c. 150 cm
2

d. 100 cm
2

183. A hemisphere and cone have equal bases and equal height. Then their volumes be in the

ratio

a. 2 : 1 b. 1 : 2 c. 3 : 2 d. 2 : 3

184. One diagonal of a parallelogram is 70cm and the perpendicular distance of this diagonal

from either of the outlying vertices is 27cm. the area of the parallelogram (in sq.cm) is
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a. 1800 b. 1836 c. 1890 d. 1980

185. 12 spheres of the same size are made from melting a solid cylinder of 16cm diameter and

2cm height then the diameter of each sphere is

a. √ cm b. 2 cm c. 3 cm d. 4 cm

186. If the side of a square is increased by 5cm, then the area increased by 165 sq.cm. the side of

the square is

a. 13cm b. 14cm c. 33cm d. 12cm

187. If the area of an equilateral triangle is 4√  m
2
, then its perimeter is

4√ m
2

a. 16 m b. 12 m c. 18 m d. 9 m

188. If the volume and surface area of a sphere are numerically the same, then its radius is

a. 3 units b. 2 units c. 1 units d. 4 units

189. Area of a rectangle one of whose sides is 6m and diagonal 10m is

a. 60 b. 48 c. 30 d. 68

190. A rectangular carpet has an area of 60sq.m. its diagonal and longer side together equal 5

times the shorter side. The length of the carpet is?
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a. 5 m b. 12 m c. 13 m d. 14.5 m

191. Which one of the following is correctly matched

1. Rani Mangammal - Uyyakkondam Canal

2. Achutappa Nayak - Battle of Talikotta

3. Aluri Kuppanna - Andhara Kalidass

4. Serfoji – II - Saraswathy Mahal

a. 1, 2, 3 b. 1, 3, 4 c. All the above d. None of these.

192. The Governor of Madras Presidency at the time of Vellore sepoy mutiny was

a. General Gillespie b. William Bentinck

c. Cornwallis d. Robert Clive.

193. In which year was kattabomman hanged

a. 1799 Oct 8 b. 1799 Oct 16 c. 1779 Jan 1 d. 1799 Jan 16

194. Who was the naik king responsible for the invasion of the Muslims on Tamil Nadu

a. Viswanatha Car b. Tirumalai Nayak

c. Sevappa Nayak d. Achutappa Nayak

195. Where did the British defeat Virapandya Kattabomman‟s army?

a. Kallarpatti  b. Singa Puneri c. Madurai d. Sri Rangam
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196. Match list I with II and select the correct answer

List I    List II

A. Warren Hastings - 1. Treaty of Mangalore

B. Sir Jhon Shore - 2. Hafiz Rehmat Khan

C. Dost Muhammad - 3. Policy of Non intervention

D. Lord Macartnay - 4. Lord Auckland

A B C D 

a. 2 3 4 1 

b. 1 2 3 4 

c. 3 4 1 2 

d. 4 1 2 3 

197. Consider the following statement

(A) Under British rule in Zamindari system land lords charged heavy rents from tenants.

(R) Under Zamindari system population grew, Villages decayed and demand for lands also grew.

a. Both A and R are correct and R is correct explanation of A

b. Both A and R are correct R is not correct explanation of A

c. A is true but R is false

d. A is false but R is true

198. The office of the Divisional commissioner was created in the year 1829 by?

a. Lord William Bentic b. Lord Curson

c. Lord Wellesley d. Lord Warren Hastings



P
ag

e3
4

199. Which one of the following is correctly matched

a. Ettayapuram - Collector Ashe

b. Jallian Walah Bagh Tragedy - Hunter committee

c. Swaraj party - B.G. Tilak

d. Alcohol prohibition - V.O. Chidambaranar

200. Who was the English general who defeated count-de-lally in the Battle of Wandiwash in

1760?

a. General Haris b. Gerneral Hamitan

c. General Sir Eyer Coote d. General Forde




